#81012 - Mud Flap Kit for RPM Rear "
Bumpers for the Traxxas Slash 2wd

/— Bumper Support
& Slash 4x4

(from #8012_ or

" ol
o BJ {c H#8100_)
0
Support Arm fal O
1 2 g
o O
_f_.a"’ Mud Flap O
- - O
/ Screw Support .
1 IZ. Contents:
| 2 - Support Arms,
2 - Mud Flaps

2 - Screw Supports
4 - M3 x 10mm Buttonhead Screws
4 - M3 x 16mm Buttonhead Screws

Before You Begin: RPM Mud Flap Kits will work with
RPM Slash Rear Bumpers only (RPM #81002, #81003
or #81005). All parts in this kit will work on either the left or
right bumper supports. The mud flaps should be oriented with
the RPM Logo facing the rear of the vehicle.

Installation: Remove all parts from their respective parts trees with a sharp
hobby knife or plastic cutters. Slip two of the M3 x 10mm screws through
one of the two Screw Supports, through one of the Mud Flaps (preferably
with the RPM logo facing the rear of the vehicle) and thread them into one
of the two Support Arms. Do this for both sides but remember, you need a
left and a right so install the second Mud Flap and Screw Support from
the opposite side of the Support Arm. Next, take two M3 x 16mm screws
and install the Support Arm with the Mud Flap installed on to the Bumper
Support in the screw hole locations marked "B" in the illustration. Repeat for
the opposite side.



